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Solutions

S1. Ans.(a)

Sol.
10

Initial quantity of acid = 10x 100

=1f
And that of water=9 ¢
Let x litre water is added.
4
..ﬁ}{(lﬂ'l'x} == l
=x=157

S2. Ans.(b)

Sol.

Let quantity of alloy of copper and zinc =8 kg
And that of copper and tin = 13 kg

Let 1 kg of each was mixed

~weight of fin in this mixture of 2 kg

5
—ﬁkc.

5
. Weight of tin per kg = 55 kg

S3. Ans.(d)
Sol.

Loss or gain in the transaction
=6.75=x60-(25x6+35=7)
= Rs. 10 gain

S4. Ans.(d)
Sol.



Let 1 kg of each is taken and melted

—

c.u|['n
-+

coltn

~ Required ratio =

[ay—

w:-t.u|m
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[
L]
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S5. Ans.(b)
Sol.

Let the total quantity of mixture be x £.
~3x=7(x—16)orx = 284

~ guantity of milk = 128

S6. Ans.(a)

Sol.
Let he sells the remaining part for Rs x

L B0 72000+ 2% 2 225 w7000 +
“3% 100 373" 700 *

120

= ——x72000
100

= x = 86400 - 59200
= x=Rs 27,200

S7. Ans.(b)

Sol.

Total CP ofeggs=80x2 + 16
=176 rupees
Total S.P. of remaining eggs = 70 x 3.20

=224 rupees
224-176

T x100

=~ Profit/loss percentage =
4800

176
z?gﬂf
=27%

S8. Ans.(a)



Sol.
Total CP=0.9 = 288 = Rs, 259.7
Total 5P = 248x1.2 = Rs.297.6

Gain percentage

297.6 -259.2 22
- 29782592 100 = 14 204
259.2 27

S9. Ans.(b)

Sol.

Let CP's be X 8 5X/4,
Mow, 5X/4 = 0.1+ X = 0.075=958
= 25x + 15x = 9800x2

98x200
=S x="——=x=490

S10. Ans.(c)
Sol.

5
Initially quantity of milk in first mixture = 3 4
4
& quantity of water in first vessel = 5 £
1
Quantity of milk in second mixture = ?{’

4
And that of water = aé’

Now, new ratio of milk and water

S11. Ans.(d)
Sol.



First method:
Let selling price of each puppy is Rs. x
. cost price of first puppy

100 b5x
X— = —

120 6
and cost price of other puppy

100 b5x

= xs —=
80 4

Total S N Sx  2bx
otal cost price=—+ —=——
P 6 4 12
-~ percentage profit or loss
25x
2%

- 12
= —5g 2 X100

12
or
404 loss

2nd method:

In such type of questions, always loss occurs irrespective of selling price

~ 04 loss on overall transaction
(common loss or profit)?

100

207

" 100
= loss of 404

S12. Ans.(d)

Sol.

Let initial quantity of mixture of acid
and water is 4x £.

~Afe,

x—|-5_1
3x 2
=x=10¢

~ New quantity of mixture = 45 £

S13. Ans.(b)
Sol.



Wine in Wine in
Container 1 Container 2

S

%]

5

3
/

&=

. Required ratio =

ale glg gl 2l-

S14. Ans.(c)
Sol.

Let cost price of milk is 1 then
Cost price of mixture

100 9
=1X—— =

100 +—lgﬂ 10

According to law of mixture
Milk Water

1 0
N
9/10

RN

9/10 1/10
Milk : water=9:1

S15. Ans.(e)
Sol.



Quantity of alcohol in original mixture
5
=40 x P = 25 litre

Quantity of water = 40 - 25 = 15 litre
According to question

Required Ratio

25_(4[”‘ 12nﬂnxg)
- 20 3 20
15—(4ﬂx—1ﬂﬂx§)+4nx—1ﬂﬂ
20
=1:1

~15—-3+8



